616 Chapter 5 Systems of Equations and Inequalities

In Exercises 1-5, solve the system.
§ 4% =7 + 4 5 2¥ + 8y = =2
" 3x+ 7y =-18 " 3x -4y =20
ek 3w =0 x4+ y* =25
A+ —Tz2=1 4
_ x+y=1
k= PR Jdr=3 )
22 = Syt = =2
3 + 22 =35
6. Find the partial fraction decomposition for ——————.
r+ L)+ 9)

In Exercises 7-10, graph the solution set of each inequality or

system of inequalities.

7

9.

11.

13.

x=0y»=0
X =2y <8 8 ¢+ y=E9
2x+ 3p=6
22+ > 1 10 pe=1 - x?
K+ < 4 "l =1
Find the maximum valuc of the objective function
: =3x + 5y subject to the following constraints:
gEbyryrzldrty=6x=2
You need to mix a 6% peroxide solution with a

9% peroxide solution to obtain 36 ounces of an 8% peroxide
solution. How many ounces of each of the solutions must

be used?

A company is planning to produce and sell a new line of
computers. The fixed cost will be $360,000 and it will cost
$850 to produce each computer. Each computer will be sold

for $1150.

14.

16.

Write the cost function, C. of producing x computers

revenue function. K. from {he sale

b. Write the
of x computers.

Determine the break-even point. Describe whay this
means.

Find the quadratic function whose graph passes through ¢,
points (—1, =2), (2,1),and (=2, 1).

The rectangular plot of land shown in the figure j5 4,
be fenced along three sides using 39 feet of fencing,
No fencing is to be placed along the river's edge.
The area of the plot is 180 square feet. What are ji

dimensions?

A manufacturer makes two types of jet skis, regular and
deluxe. The profit on a regular jet ski is $200 and the profit
on the deluxe model is $250. To meet customer demand. the
company must manufacture at least 50 regular jet skis per
week and at least 75 deluxe models. To maintain high quality.
the total number of both models of jet skis manufactured by
the company should not exceed 150 per week. How many
jet skis of each type should be manufactured per week to
obtain maximum profit? What is the maximum weekly

profit?



